

## Sumar y Restar Dos Fracciones (A)

Nombre: \_\_\_\_\_ Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

Calculen cada result.

1.  $\frac{34}{10} - \frac{4}{5} = \underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$   
Denominator      Solve      Simplificar      Convertir ↓

2.  $\frac{40}{14} - \frac{1}{2} = \underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

3.  $\frac{13}{6} + \frac{53}{18} = \underline{\hspace{1cm}} + \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

4.  $\frac{1}{3} + \frac{9}{6} = \underline{\hspace{1cm}} + \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

5.  $\frac{5}{3} - \frac{6}{18} = \underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

6.  $\frac{14}{4} - \frac{7}{8} = \underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

7.  $\frac{19}{5} + \frac{7}{10} = \underline{\hspace{1cm}} + \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

8.  $\frac{7}{4} + \frac{6}{8} = \underline{\hspace{1cm}} + \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

9.  $\frac{4}{7} + \frac{49}{14} = \underline{\hspace{1cm}} + \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

10.  $\frac{5}{3} - \frac{9}{18} = \underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

## Sumar y Restar Dos Fracciones (A) Respuestas

Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_

Puntuación: \_\_\_\_\_

Calculen cada result.

$$1. \quad \frac{34}{10} - \frac{4}{5} = \frac{34}{10} - \frac{8}{10} = \frac{26}{10} = \frac{13}{5} = 2\frac{3}{5}$$

$$2. \quad \frac{40}{14} - \frac{1}{2} = \frac{40}{14} - \frac{7}{14} = \frac{33}{14} = 2\frac{5}{14}$$

$$3. \quad \frac{13}{6} + \frac{53}{18} = \frac{39}{18} + \frac{53}{18} = \frac{92}{18} = \frac{46}{9} = 5\frac{1}{9}$$

$$4. \quad \frac{1}{3} + \frac{9}{6} = \frac{2}{6} + \frac{9}{6} = \frac{11}{6} = 1\frac{5}{6}$$

$$5. \quad \frac{5}{3} - \frac{6}{18} = \frac{30}{18} - \frac{6}{18} = \frac{24}{18} = \frac{4}{3} = 1\frac{1}{3}$$

$$6. \quad \frac{14}{4} - \frac{7}{8} = \frac{28}{8} - \frac{7}{8} = \frac{21}{8} = 2\frac{5}{8}$$

$$7. \quad \frac{19}{5} + \frac{7}{10} = \frac{38}{10} + \frac{7}{10} = \frac{45}{10} = \frac{9}{2} = 4\frac{1}{2}$$

$$8. \quad \frac{7}{4} + \frac{6}{8} = \frac{14}{8} + \frac{6}{8} = \frac{20}{8} = \frac{5}{2} = 2\frac{1}{2}$$

$$9. \quad \frac{4}{7} + \frac{49}{14} = \frac{8}{14} + \frac{49}{14} = \frac{57}{14} = 4\frac{1}{14}$$

$$10. \quad \frac{5}{3} - \frac{9}{18} = \frac{30}{18} - \frac{9}{18} = \frac{21}{18} = \frac{7}{6} = 1\frac{1}{6}$$